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Answer either Section A or Section B.
Section A: Herodotus
Answer all the questions.
Passage A1
“Kelevel o€ *AoTudyns 10 matdiov TodTo Aapdrta Oetval eis 10 EpnudTaTtor TV dpdy, dTOS dv
TdyioTa Stadbapein. kal Tdde TolL ékélevoev elmely, 6L, €dv PN dmokTelvns avTd, AANd TV
TpOT@ TepLTOLNONS, ONOPY TO KaklioTw o€ StaxpoeTatl: ébopdv 8¢ ékkelpevor TéTaypat éya.”
Story of Cyrus the Great, A. Infancy of Cyrus, 2.5-10

1  Who is the speaker here?

2  “Kelelel o€ "AoTudyns 70 mardiov TodTo AaBoévTa Betval eis TO épnpdTaTor TOV 0pdv, OTwS v
TaxtoTa Stadbapein.

(a) What instruction is given to the herdsman?

Put a tick (v) in the correct box.

A  To leave the baby in the most deserted part of the grazing-land.

B  To leave the baby in the most deserted part of the mountains.

C  To leave the baby on its own in the road.

D  To leave the baby on its own on the mountainside.

[1]

(b) How is the urgency of the task emphasised?
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3  kal Tdde ToL ékélevoev elmely, OTL, €av pr) amokTelvns avTd, AAA Tl TpOTE TEPLTOLROTS,
ONéBpw TH kakioTe oe diaypioeTal: épopdy 8¢ ékkelpevor TéTaypat €ya.”

How does the speaker make it impossible for the herdsman to refuse? Three of the following
statements are correct.

Put a tick (v) in each correct box.

A He says he has been ordered to supervise the baby’s exposure
himself.

B He says he wants to supervise the baby’s exposure himself.

Cc He says that Astyages has threatened to kill the herdsman if he
does not do it.

D He says that the herdsman will die a foul death if the baby
survives.

E He threatens to kill the herdsman if he does not do it.

F He wants the herdsman to supervise the baby’s exposure himself.

[3]

Passage A2

TadTa dkovoas 6 BovkOhos kal avalaBov 1o matdlov fet THv adTnv 680V omiow, kal ddLkvelTal
els TN €maviy. To0TE & dpa kal abTd 1 yuvn év éxelvy TH Npépa Talda €Tekev.

Story of Cyrus the Great, A. Infancy of Cyrus, 3.1-4

4 Translate Passage A2 into English.
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Passage A3
1 8¢, Os €1de TO Tardiov péya Te kal eveldes dv, Sakpioaca kal AaBopévn TOV yovdTov
ToD avdpds, éxpnle undapnds éxdetval altd. 6 8¢ ovk €drn olds Te elval dAws avTd ToLely:
emidoLTHoEY yap kKaTaokdTous €E “ApTdyov émoopévovs: dmoleloBal Te alTos kdkioTa €av
un TadTa moljor. ws 8¢ ok €melber dpa TOV Avdpa, delTepa NMéyeL 1 yuvn) Tdde, “’Emel Tolvuvv
ov dlvapal oe melbewv pn ékbetval, Opws nde ov moinoov, el 81 Tdoa dvdykn 0dOfvar Tardiov
éxkelpevor: TéToka yap Kal €y, TéBumke 8¢ TO Bpédos: TobTO pevr dépwr mpdbes, Tov 8¢ THs
"AoTudyous BuyaTpos Talda os €€ NUOV dvTa Tpédwer.
Story of Cyrus the Great, A. Infancy of Cyrus, 4.2—13
5 How does Herodotus arouse sympathy for the herdsman and his wife in Passage A3?

In your answer you must refer to the Greek and discuss Herodotus’ choice and position of words
and any other stylistic features. In your answer you should cover the following points:

e the various ways the herdsman’s wife tries to persuade her husband;
¢ the herdsman’s own difficult situation;
e the dramatic aspects of the scene. [10]

Marks are awarded for the quality of written communication in your answer.
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Passage A4

“..kal oUTes 0UTE 0V ANOOEL ASLKOY Tovs SeomdTas, olTe NUIV kakds BeBovievpévov EéoTal:
6 Te yap Tedunkos Baoikelas Tadfs kupfoeL, kal O TepLOY 00K ATTONEL TNV YuxHv.”

KdpTa Te €80Ee ) Boukdhy €U Aéyewy 1) yury, kal abTika émolel TadTa: Ov pev Edepe
BavaTdowr malda, TodTov pev mapadidwol TH €avtod yuvaiki: TOV 8¢ €avTod, vekpov bvTa,
NaBov €0nkev eis TO dyyos év @ ébepe TOV ETepor: Koophoas 8¢ T kOO TavTl Tod €Tépov
Tardods, dépwv els TO EpnudTaTov TOV dpdr TiONoL.

Story of Cyrus the Great, A. Infancy of Cyrus, 4.13-22

6 & Te yap TeOunkos Baoilelas Tadfs kuproeL, kal O TepLOY ovK ATONel TNV BuxHv.”
What benefit does the herdsman’s wife describe for each baby?

(@) The dead Daby:.......coo ettt e e e e as

..................................................................................................................................................... [1]

(b) The SUMVIVING DADY: ..ot e e e e e et e e e e e e e e s nneneeeeeeeeeeanes

..................................................................................................................................................... [1]
7  Kdpta Te €8ofe T) PoukdAy €V Méyewy 1) yuvy, kal adTika émolel TadTar

How does Herodotus show that the herdsman has been convinced by his wife’s argument?

..................................................................................................................................................... [1]
8 Ov pev €depe Bavathowr Talda, TodTov pev mapadidwot TH €avtod yuvaiki-

How do you think the herdsman’s wife feels at this point in the story? Give a reason for your

answer.

..................................................................................................................................................... [2]
9 1OV 8¢ €auTod, vekpov SuTa, hapov Ednkev eis TO dyyos év @ Ebepe TOV E€Tepor: KOOPNTUS

8¢ TO kéopw TaAvTL TOb €Tépov TaLdds, dépwr els TO EpnudTaTor TOV dpdy TiONOL.

What does the herdsman do to hide the identity of the dead baby?

..................................................................................................................................................... [2]
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Passage A5

‘Qs 8¢ Tpltn Nuépa éyéveTo, fiel els mOAY 6 Boukdlos, ENBov &¢ els Tob “Apmdyov,

amodetkvival €émn €ToLpos elvar Tov Tod mardlov vékur. mépdias 8¢ 6 “ApTayos TOV €avTod
Sopuddpur TOUS TLOTOTATOUS, €L8€ Te St ToUTwy kal €Badse ToD Pouvkdlou TO Tatdiov.

Story of Cyrus the Great, A. Infancy of Cyrus, 4.23-27

10 "Qs 8¢ TpiTn Nuépa éyéveTo, fet els O 6 BoukOos
When did the herdsman go into the city?

Put a tick (v) in the correct box.

A

A week later

On the third day

On the thirtieth day

Thirty days later

11 There are three correct statements to explain what is happening in Passage A5.

Put a tick () in each correct box.

A

© OCR 2011

Harpagos did not look at the baby’s body himself, but sent
others to bury it.

Harpagos did not trust the herdsman, so he saw the baby’s body
and buried it.

Harpagos trusted the bodyguards to identify the baby.

Harpagos trusted the herdsman and told him to bury the baby’s
body.

The herdsman took the baby’s body to Harpagos’ house
to show him.

The herdsman went to Harpagos’ house without the baby’s body
to show him.

Turn over
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Passage A6
TadTa MéyovTos Tob Tardds, Tov ' AcTuvdyn elonfel avdyvwots abTod: kal & Te XApAKTTP TOV
TpooWToU €80keL Tpoodépeadal els €avTdr, kal 1) VTOKPLOLS ENeVBepwTdTN etval: 6 8¢ Xpbros
Ths ékbéoews TH Nkia Tod Tardos €ddkel oupBaivewv. éxmlayels Se TovToLs, €Ml Xpdrov
adboyyos nr. pdyis 8¢ 61 moTe dvevexbels elmev, €6éwr exmépfar Tov  ApTepBdpn, va TOvV
BoukOlov pévov haBov Bacavion, “’ ApTépPapes, €yon TabTA TOLROW, GOTE 0€ KAl TOV TAldA
TOV 00V pundev eémpépdecdar.” TOV pev 61 ApTeppdpn méumer: Tov 8¢ Kdpov nyov elow ot
BepdmovTes, keheVoavTos Tob  AcoTudyous.
Story of Cyrus the Great, B. Boyhood of Cyrus, 2.15-25
12 Show how Herodotus builds the story towards an exciting climax in these lines.

In your answer you must refer to the Greek and discuss Herodotus’ choice and position of words
and any other stylistic features. In your answer you should cover the following points:

* the process of recognition;
¢ the characters other than Astyages;
e the speed at which events move. [10]

Marks are awarded for the quality of written communication in your answer.
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Passage A7
e ) 3 ~ b4 ’ \ \ ~ 3 \ b4 K ’ e ~ ’ ’
0 8¢ €€ cauTol Te €dn yeyovéval, kal TNV Tekoboav aiTOV €TL €lval Tap €avTd.  AcTudyns
8¢ ok €dn alTov eV BovheteoBat, émOVPdY els dvdykas peydlas adikveloBal: dpa te AMyov
TadTa, éofpaive Tols Sopuddpols happdvey avTév. O 8¢ ayduevos eis Tas avdykas, oUTw 81
Ebawve TOV duta Noyor: kal kaTéBalvev €ls A\TAS ouyyrduny €avtd kelebwr éxelv altév.

Story of Cyrus the Great, B. Boyhood of Cyrus, 2.28-34

13 How does the herdsman react under pressure in this passage?
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14 Much later in the story Herodotus tells us that Cyrus did in fact take Astyages’ place as king,
despite Astyages’ best efforts to prevent it. Which character(s) in the story do you think
should take responsibility for this, and why?

You should make two points in support of your answer, referring to passages printed on the
paper or any other parts of the story.

[Section A Total: 50]
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Do not answer Section B if you have already answered Section A.
Section B: Plato
Answer all the questions.
Passage B1
DAIA. Eyd ool €€ dpxfis mdvTa melpdoopat Sinyfoachar. del ydap 81 kal Tas mpoohev

M ’ 2 7 ~ \ b \ \ N b4 \ \ ’ /7 174 2 \
NUépas elnbeper dolTdy Kal €yn Kal oL dANOL Tapd TOV ZwKPATY, CUAEYOLEVOL €wBeV €LS TO
StkaoThpLov €v @ kal 1) 8ikn €yéveto: mAnolov ydap nv Tod deopwtnplov.

Scene lll. The Last Day. 59C10-

15 To whom is Phaedo speaking?

16 "Eyd oot €€ dapxfis mavTa melpdoopat dinynoacbat.
Write down and translate the Greek phrase which shows that Phaedo wants to tell the whole
story (mdvTa) in some detail.

Greek phrase Translation

b \ A A \ \ / e / % 7 ~ \ b \ \ e b4 \ \
17 del yap 81 kat Tas mpdobev NLépas elnbepler GoLTaY Kal €yw KAl oL AANOL Tapd TOV

D5

[2]

SokpdTT, ocVAAeydpevol €nber els TO SitkaoThpLov €V ¢ kal 1) 8ikn éyéveTo: mAnolov ydap nv Tod

SdeopoTnplov.
At what time were Phaedo and his friends accustomed to visit Socrates?

Put a tick () in the correct box.

A at daybreak

B at lunchtime

C  during the night

D in the evening

© OCR 2011

[1]



13

18 oul\eydpevol €wbev els TO StkaoThplov év @ kal 1) 8ikn €éyéveTo: mAnoiov ydp N Tod

deopwtnplov.

(a) Where did they meet?

..................................................................................................................................................... [1]
(b) What was familiar about this place?
..................................................................................................................................................... [1]
(c¢) Why did they choose this place?
..................................................................................................................................................... [1]

Passage B2

19

TePLEPEVOLEY 0DV €KATTOTE €0S drolxBein TO SeopwTiplov, StatplBovTes pet dAH LY,
AVEQYETO Yap 00 TpQ: €TeLdN 8¢ avolrxPeln, elofuer mapd TOV ZokpdTn Kal TA TOAA
Sinpepetoper pet avTob.

Scene lll. The Last Day. 59D5-8

There are three correct statements to explain what is happening in Passage B2.

Put a tick (v) in each correct box.

A The prison opened early each day.

B The prison opened late each day.

C  They waited around for each other to arrive after the prison opened.

D  They waited around for the prison to be opened, spending time with
each other.

E When the prison was opened they used to go in and take Socrates
out for the day.

F When the prison was opened they used to spend most of the day
with Socrates.

[3]
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Passage B3

~ 3 N4 2 ~ ~ ’ ) AN \ ) ~ 9 -~ 4 ”n ”
VOV ouv, o dvdpes  ABnralot, TOAOD OEw €yn UTEP ELAUTOD aTONOYELGOAL, S TLS AV OLOLTO,
AA\A UTTEp VROV, unf TL €€apdptnTe Tepl TNV ToD Beod SdoLv Lty épol kaTandLodpevol.

Scene |. The Trial. 30D6—-E1

20 Translate Passage B3 into English.

© OCR 2011
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Passage B4

21

LN 4

€av ydp pe amokTelvnTe, oU padlws dA\\ov TololTov evpfoeTe, ATEXVOS - €l KAl yehoLdTepoV
elTely - Tpookelpevor TH moXeL VO Tob Beod Gomep (TTE peydlw pev kal yevvale, 1O
HeYéBous 8¢ vwbeoTépy kal deopévy éyeipecdatl 1O piwTds TLVOS, olov 81 poL Sokel 6 Beos épe
TH mOAeL TpooTedNKéval TotodTOV Twa, Os Lpds éyelpov kal melbor kal oveldilov éva ékacTov
oU8eY mavopal THY Hpépav SAnv mavtaxod mpookabilwy. ToLodTos olv dA\os ol padlus

Upiv yevioeTat, o dudpes, AN éav épol meldnobe, deloeadé pov: Vpels & {ows Tdy dav
ax0opevol, Gomep ol vvoTdlovTes éyelpdpevol, kpovoavTes dv pe, melbopevol " AviTe, padlos
dv dmokTelvaiTe, eita TOV hotmov Blov kabevSovtes StaTelolTe dv, el pf Twa dA\hov 6 Beds Vpiv
emmépdeter knddpevos LPOY.

Scene |. The Trial. 30E1-31.7
How effective do you find this part of Socrates’ speech as a defence?

In your answer you must refer to the Greek and discuss Plato’s choice and position of words and
any other stylistic features. In your answer you should cover the following points:

e an explanation of the simile;
e the mixture of humour and seriousness;
e the likely effect on the listeners. [10]

Marks are awarded for the quality of written communication in your answer.

© OCR 2011
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Passage B5

22

6 KpiTov, Elev, €dn, o ZdkpaTes: T( 8¢ TovTOoLS 1) €pol émoTéNels 1) mept TOV malSwy
T Tepl dA\ov Tou, OTL dv ool ToLoDVTES NIELS €V XApLTL LANLOTA TOLOTLEV;

"ATep del My, €dn, 0 KplTov, 008ev katwvdTepor: &TL UGV adTdv émipe ovpevol
UpEls kal €pol kal Tols épols kal VPTY avTols év xdpLTL ToljoeTe dTT Av moLfiTe, Kdv un viv
OpoloynonTe: €av 8¢ VPOV pev alTOv ape\fTe kal un  0éAnNTe GoTep KaT IXvn KaTd Td ViV Te
elpnpéva kal Ta év T4 Epmpooder Xpove (fr, 00de €av TOANA OLoNoyNonTE €V TO TapOVTL KAl
od68pa, 008 mAéov TOLNoETE.

Scene lll. The Last Day. 115B1-C1

Ve \ / N\ b \ b / ”n \ ~ 7’ "N \ b e/ b4 ~
T{ 8€ TOUTOLS 1] €Ol ETMLOTENNELS T) TEPL TOV Taldwy 1) TEPL AANOV TOU, OTL AV OOL TOLOVVTES
NUELS €V XApLTL LAALOTA TOLOLEY;

(a) About what does Crito ask for instructions?

Put a tick () in the correct box.

A the children and anything else

B the children and himself

C the children and his friends

D the children and Xanthippe

[1]
(b) What is his purpose in asking for these instructions?

© OCR 2011
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23 "Amep del Méyo, €dn, o KpiTov, o0dév kawdTepor: TL UudY adTdv émpe ovpevol Uels kal épol
Kal Tols €Pols kal VLY avTols €V XdpLTL ToLoeTe ATT dv ToLfTe, KAV un viv opoloyfonTe:
€av 8¢ VUGV pev avTOr dpedfiTe kal P 0éanTe domep kat {xvn kaTda Ta vOv Te elpnuéva kal
Ta év 1) E€pmpooder xpdvo (A, ovde éav ToAA OpoloyfonTe év TO TapdvTL kal opdSpa, ovdeY
TAEOV TOLNOETE.

There are three correct statements to explain what is happening in these lines from Passage B5.

Put a tick () in each correct box.

A  Crito and his friends must serve Socrates and his family whatever
they do.

B Crito and his friends must take care of themselves above all.

C It is most important that Crito and his friends agree with Socrates now
in order to follow the path.

D It is most important that Crito and his friends follow the path even if
they do not agree with Socrates now.

E Socrates’ instructions are quite new.

F Socrates’ instructions are the same as ever.

[3]

24 What question does Crito ask immediately after Passage B5 which shows that Crito is
mainly concerned with the practical matters of Socrates’ death?

© OCR 2011 Turn over
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Passage B6

25

Kal dap’ elmov TavTaA emoxouevog Kal uaka evxepmg Kal evKo)\mg ¢Eémer. kal nuwv oL To\\ol
TéwS uev ¢TLeLk®ds olol Te Noav KO(‘I'EXELV TO un 80u<pvew ws 8¢ ELSOLLEV mvovTd Te Kal
TeETWKOTA, OVKETL, AN euov ye Bla kal avTod doTakTL éXWpeL Ta 8a|<pva BoTE eyKakudjauevog
ATEKNAOV euav‘rov - 0V yap 81 ékelvdv Ve, AANG TNV €PavToD ‘rvxnv OLOU av8pog e‘ratpov
ecrrepnpevog einv. 0 8¢ KpL‘row €TL TPOTEPOS €D, ETrELSn olx otés T My kaTéxew Td Bavaa
eEavéotn. TATOMGSwpos 8¢ kal €v TO EpTpoader Xpove ovdev EémaveTo dakpluv, Kal 81 kal
TOTe AvaPpuxnodpevos kKAdov Kal dyavakTdv ovdéva GrTiva ol kaTékaoe TOV TapOvTor TAHY
ve alTod TukpdTovs.

Scene lll. The Last Day. 117C4-D7
Show how Plato creates a moving scene in this passage.

In your answer you must refer to the Greek and discuss Plato’s choice and position of
words and any other stylistic features. In your answer you should cover the following points:

e Socrates’ own behaviour;
¢ the behaviour of Socrates’ friends;
e feelings aroused in the reader. [10]

Marks are awarded for the quality of written communication in your answer.
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Passage B7

5

e/ ¢ / / ~ ¢ /’ < ~ b / b / € < ~ ~ b4 ~ /
Hoe 1 Tehevtn, 0 "ExékpaTes, Tob €Taipov Nuiv éyéveTto, avdpds, ws Nels dalpey v, TOV TOTE
wv €meLpddnper aploTov kal AAN®S GPOVLLOTATOU Kal StKALOTATOV.

Scene lll. The Last Day. 118.16-19

26 (a) What is Phaedo’s final assessment of Socrates?

© OCR 2011
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(b) What is your own opinion of Socrates?
You should make two points, supporting each with reference either to passages printed on
this paper or to any other passages from the text.

[Section B Total: 50]
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ADDITIONAL PAGE

If you use the following lined page to complete the answer(s) to any question(s), write the
question number(s) in the margin.
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